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GENERAL AWARENESS

1) The Reserve bank of India granted in —principle
Approval to which of the following applicants
To set up banks on April2, 2014 7
1} IFC1  2) Bandhan Financial service pvt Lid
3)IDFC 4)Both 1and2 5) Both 2 and 3

2) Manuel valls assumed office as the prime
Minister of which of the following countries on
April, 20147
1) Spain 2) France 3) Italy 4)Argentina 5) Peru

3) On April 1, 2014, the Reserve bank of India in
its monetary policy kept the repo rate unchanged

at.?
1)9% 2)7% 3)8% 4)9.5% 5)8.5%

4) Who was appointed as RBI Deputy Governor for
three years in place of Anand Sinha on April
3,20147
1) 8.5 .Mundra 2) Nachiket Mor 3) V.Kannan
4) R.Gandhi  5) None of these

5) Gurdial Singh Sandhu is the ?

1) Finance secretary 2) Revenue Secretary
3) Economic Affairs Secretary

4) Home Secretary

5) Financial services secretary

6) The North Atlantic Treaty Organization (NATQ)
Suspended its ties with which of the following
countries in April 2014 7

1) Ukraine  2) Syria
4) Russia 5) China

7) Kumba vala died on April4,2014.he was the
former President of 7
1) Ghana  2) Guinea-Bissau 3) Gambia
4) Djibouti  5) Malawi

8) Archaeological survey of India( ASI) and which

of the following companies jointly launched 360
degree panoramic imagery of nationally
important monuments in February 2014 ?

1) Google  2) Yahoo 3) Bing

4) MSN 5) None of these

9} October 8 is celebrated in India as?

1) Army day 2) Air Force day 3) Navy day
4) Armed Forces Flag day 5) Kargil divas

10) Which instrument measures the electric current?

1) Altimeter 2) Calorimeter 3) Galvanometer

4} Durometer 5) None of these

11) Who among the following architects designed

the city of Chandigarh ?

1) Charles Correa  2) Le Corbusier

3) Afghanistan

3) Edwin Lutyens . 4) Herbert Baker
5) None of these
12) Which of the following cups / trophies is
Associated with Hockey?
1NDCM Trophy 2) Davis cup 3) Derby Trophy
4) Durand cup  5) None of these
13) Who invented the Thermos Flask ?
1) Thomas Aiva Edison 2) Humphry Davy
3) James Dewar 4) Alexander Bain
5) Lewis Waterman
14) Zloty is the currency of 7
1) Poland  2) Mexico
4) Slovenia 5) Latvia
15) The Jadugada Mine commenced operation in
1967 and is the first Uranium mine in India.lIt is
located in 7
1) Odisha 2) Jharkhand
4) West Bengal 5) Chhattisgarh
16) Mahatma Gandhi setu ,one of the longest river
bridges in Asia, is a bridge over the nver?
1) Narmada  2) Tapti 3) Ganga
4) Godavari  5) Mahanadi
17) Nikhat Zareen of India is associated with which
of the following sports?
1) Badminton 2) Boxing
4) Tennis 5) Archery
18) Which of the following private banks celebrated
its platinum Jubilee in October 20137
1) ICICI Bank 2)HDFC Bank 3)Yes Bank
4) ING Vysya Bank 5) J & K Bank
19) Nirmal Bharat Abhiyan (NBA) is an initiative
of the Ministry of 7
1) Minority Affairs
2) Information and Broadcasting
3) Drinking water and Sanitation
4) Health and Family welfare
5) Home Afairs
20) Which country faced the first Government
shutdown in seventeen years in October 20137
1) UK 2) France 3) Germany 4) USA 5) laly
21) Which Indian Industrialist was inducted into
The prestigious National Academy of
Engineering ( NAE) in the United states for his
Contributions to industrial development in
India and Across the world in 20137
1) E.Sreedharan 2) Ratan Tata
3) N.Chandrasekaran  4) Azim Premji
5) Krishna Kumar Natarajan
22) Mayaram Committee was formed by the
Government of India to examine the 7

3) Slovakia

3) Bihar

3) Chess




1) Progress in 2G specirum scam case

2) Alleged irregularities in the functioning of
Indian Olympic Association

3) Alleged irregularities at the National spot
Exchange Ltd.( NSEL)

4) Progress in coal block allocation scam

5) None of these

23) The 9" edition of “Naseem Al Bahr”, the
Biennial naval exercise, took place between the

Indian Navy and?
1) Royal Omani Navy 2) Bangladesh Navy
3) UAE Navy 4) Indonesian Navy

5) Iranian Navy
24) Which of the following is the capital city of

Croatia 7
1) Astana  2) Pyongyang 3) Vaduz
4) Zagreb  5) Conakry

25) The Polar Satellite Launch Vehicle(PSLV)
which put the Mangalyaan into Earth’s orbit is?
1) PSLV-A22 2)PSLV-C22 3)PSLV-All
4) PSLV-C11 5) PSLV-C25
26) Who was named the Chairman and Chief
Executive Officer for the India region of food
and beverage company PepsiCo in December
20137
1) D.Shivakumar  2) Manu Anand
3) Phaneesh Muty 4) Sanjeev Chaddha
5) None of these
27) Who was fondly known as “Madiba™ ?
1) Martin Luther King Junior
2) Abraham Lincoln
3) Nelson Mandela
4) Kenneth Kaunda
5) None of these
28) Petra Kvitova is a professional tennis player
from ?
1)Russia  2) Belarus  3) Bulgana
4) Czech Republic 5) Ukraine
29) What does the letter F denote in the term
NBFC ?
1) Fiscal 2) Functional
4) Federal 5) Financial
30) Which of the following is the name of a credit
rating agency in India?
1) IBA 2) SEBI
4) CRISIL 5) PFRDA
31) Who is the author of the book *“The
Apprenticeship of a Mahatma® ,on which the
film *The Making of the Mahatma * is based?
1) Shyam Benegal  2) Arundhati Roy
3) Ela Gandhi 4) Shobha de
5) Fatima meer
32) Blood does not coagulate inside the body due
1o the presence of 7
1) Hemoglobin ~ 2) Heparin  3) Fibrin

3) formal

3) IRDA

4) Plasma 5) None of these
33) Foal, Filly and colt are the three names of a
baby?
1) Cat 2) Tiger 3) Deer 4) Horse 3) Dog
34) Fire temple is the place of worship in which of
the following religions ?
1) Islam 2) Sikhism
4) Zoroastrianism  5) Hindusim
35) Decibel is the unit used for 7
1) Speed of light 2) Intensity of heat
3) Intensity of sound 4) Radio wave frequency
5) None of these
36) Which of the following is not a component of
the agricultural strategy that brought about the
Green Revolution ?
1) Greater intensity of cropping
2) Guaranteed maximum prices
3) Development of high-yielding varieties
4) New agricultural techinology
5) Package of inputs
37) Which one of the following is not a football
club?
1) Arsenal 2) Aston Villa 3) Chelsea
4) Tottencham Hotspur 5) Monte Carlo
38) South —South dialogue is associated with ?
1) Arms Conference 2) Nuclear Treaty
3) Cooperation among developing nations
4) Meeting between the developed and the
developing countries
5) None of these
39) What is the full form of OPEC ?
1) Oil and petrol Exporting Companies
2) Oil producing and Exporting couniries
3) Oil producing and Exporting corporation
4) Organization of petroleum Exporting
Countries
5) None of these
40) Which of the following is not a nationalized
bank
1) Oriental bank of Commerce
2) Bank of India
3) United bank of India
4) Union bank of India
5) IDBI Bank

3) Jainism



Directions (d1-45): Which pffhiz'p?ﬁuéﬁ'ﬂ'.t 2, {3
and (4) given below should reploce the phrase given in
bold in each of the following sentences o moke [t mean-
ingiud and grammatically correct. If the senfence is correct
s it is and 'No correction is required’, mark (5) as the
QRFLET,

41, We admire they are taking this step despite the
numerous risks involved.
1. them to take
2, them for talang
3. that they have taken over
4. how their taking of
5. Mo eorrection required

42. 'We have accepted over two billion dollars from them |

yet it is been used to build hospitals in the area.
1. that is yet to use
3. not yet being used
5. Mo correction required
43. People have respond in favour the government's
efforts to resolve the budget crisis,
1. favourably responded
2, regponse in favour of
3. responded favourably to
4. been responding favourably
5. Mo correction reguired
44. The management has been loft with no option else to
change the branch timings to avoid losing business.
1. but to change 2. except the change of

4. which will be used

2, although it has been used '

i

3, unless it changes with 4. other than the changing .

5, No correction required

45. Striking this deal will enable the company te

expand its operations in Europe,
1. Strike this deal that
2. To strike off this deal
3. By striking this deal to
4, Thiz deal was struck which
5. Mo correction required
Directions (46-680): Read the followihg poks
fully and answer the guestions given bebay i
uu}rd.iﬁmrsbnanpn'mdiubqid W A8
white answering some of the question
The great fear in Asia n sho
region would suffer through

ther ﬁ'lal\tha region's nascent rebound. But Just as easily,
Asia could-scon find itself saddled with overheated mar-
kets similar 1.3, housing market. In short the

world has not changed, it has just moved places.

The incipient bubble is being created by government *
policy. In respones to the global credit crunch of 2008, pol-
icy makers in Asia slashed interest rates and flooded

L S P W L—

ma:kets Or R ]c»np "‘H"I".r

logical for central bankers striving to reverse a deepening
economic crisis. But there's evidence that there is too
much easy money around. It's winding up in stocks and
real estate, pushing prices up too far and too fast for the
pnderlying economic fundamentals. Much of the concern
is focused on China, where government stimulus efforts
have been large and effective. Money in China has been
especially easy to find. Aggregate new bank lending
surged 201% in the first half of 2009 from the same pen-
od a vear earlier, to nearly $1.1 trillion. Exuberance over
# quick recovery -which was given & boost by China's sur-
prisingly strong 7.9% GDP growth in the second quarter -
hae buoyed investor sentiment not just for stocks but
also for real estate.
Former U.5. F

in hindsight. But
in the dangers X: Mﬁe past decade are
increasingly i have risen too far, and that
the slightest bit, of nzgame ecpnomic news could knock

ing thiz year that constitutes tightening.”
d major-shift in thinking, the easy-money

cading for ansther disheartening plunge.
Te which of the following has the author
attributed the 2008 Asian financial crisis 7
A Reluctanee of Asian governments to taper off the
economic stirmulus
B. Greed of Asian investors causing them to trade
gtocks of American companies at high prices
(. Inflated real estate prices in Asian countries
- 1. None
2, Only (A)
3. Only (C)
4. Omly (A) and (B)
5. Only(B}

47. Wh}rdmthnmthnrduuhtthaemmtmuuh |

gence of Asian economics 7

1. Their seonomies are too heavily reliant on the
American economy which is yet to recover

2. Central banks have slashed interest rates too
ahruptly which is likely to cause stock markets to
crash

3. With their prevailing economic conditions they
are at risk fof a financial erisie

4. Their GDP has not grown significantly during |

the last finanecial vear.
5. Mone of thess.
48, What is the author's main objective in writing
the passage 7
1. Tlustrating that Asian economies are financially
mrore sound than those of developed countries

2. Disputing financial theories about how reces- |

gions can be predicted and avoided

3. Warning Asian coumtries about the dangers of |

favouring fast growth and profits over sound eco-
nomie principles

4, Extolling China's ineredible growth and urging
other countries to emulate it



49. What does the author want to convey through
the phrase "The World has not changed it has
just moved places™ ?
1. AL present countries are more dependent on
Asinn economies an on the US esonomy,
2. Economies have become interlinked on account
of globalisation.
8. Asiam governments are implementing the same
economic reforms as developed Countries,
4. All economies are susceptible to recession
because of the state of the US sconomy.
3. None of these
§0. Which of the following can be sald about the
Chinese government's efforta to revive the
econimy ¥
1. These were largely unsuccessful as only the
housing market improved

2. The governments only concern was to boost
investor confidence in stocks, :

3. These effrts were ineffectual as the economy
recovered owing to the US market stabilising,

4. These were appropriate and accomplished the
goal of econormic pevival,

& They blindly imitated the economic reforms
adapted by the TS,

Gl _According to the passage, which of the follow. -
ing factor(s) has'have had a negative impact on |
the Asian stock markets 7
A Abrupt drop in exports by Asian countries
B. Extravagant disbursement of housing loans in

i

2004
C. Raising of interest rates by the Central Bank
1. Mone 2. Only (A) and (B)
3, Only (A 4, Only (A) and (C)

5. All (A), (B) and (C)
52. Why was the investor confidence in the
Chinese stock market been restored 7
A, Existing property prices which are stable and
affordable,
B. The government has decided to tighten credit,
C. Healthy growth of the economy indicated by G

figures.
1. Only (C) 2. Only (A) and (B}
3. All (A), (B} and (C) 4. Only (B}
3. None of these
3. Which of the following can be i
the passage 7

A, Al Asisn economibes are necoveTing
B. Experts are apprehensive g
Asian econormies despite their o

economic reforms as Asis
1. Omlly (&)
2, Omly (A) and (B)
5. None of thess

bd. Why does ex
makers will

B. Stoe
C. Fear of ro
1. Wi | 7 Only (C)
nly | qul'l_‘l':‘ﬂ—_ 4. Only (B)
5. Onlw Bl and{C)
55. What do tistics about loans given by
Chinese ba in 2009 indicate ¥
1. There was hardly any demand for loans in 2008

2, The Chinese gwu'n.'nmﬂ hes borrowed funds
from the 11.8, 1

3. China will take longer than the US to rocover
from the economic crisis
4. The GDP of China was below expectations
5. None of these
Directions (56-58); Choose the word or grouwp of
wards which is MOST SIMILAR in meaning fo ke word
printed in bold az wsed in the passage.
58, Evaporated N
1. dehydrated
3. vaporised
5. dodged
57. Fuel
1. petral
5. charge
58. Flooded
1. surged
3. ovger ﬂﬂwed
b. overcome
DIrenl'iant f =1

&, malted
4, vanished

4. heat

2. stimulate 3: sustain

Q\\K saturated

Iwm' or growp which
word printed in bold

4, indistinet

Fdny grammatical mistake ferror in i, The

. will be in ome part of the sentence. Mark the

at pari with erraor as your answer, If there iz

eark (5) as your answer,

. Theéar fail.u.m to inspect (1) our factories is a (2) clear
indications that our (3 license will not be renewed.

14} N-:u error ()

2, The Board's decision has provided (1) employees

with the epportunity (2] / to acguire upto 100 (3V

shares by the company. (43 No error (3)

. He had telephoned yesterday to (1) / ask how muel’
of the youth {2 who attend our classes would be (3V
interested in working for a textile company. (4 Mo
error (5)

B4, If the manufscturing sector continues (1) to grow at

the same rate for (2 the next few monthz, [ think it '

{3} has a high growth rate this year. (4¥ No error (5} -

B65. The suceess of the (1) government sponsor job guar-
antee programme (2} has resulted in a (3) drastic

drop in povertg (4) Mo error (5)

6. We had extensively discussions (11 with the partici-
pants and (2} obtained their feedback (3) regarding |

our new services, 4V No error (5)

67, The government is working (1) out a new system to !

compensate (2) these companies to sell (3V products
balow the market price. (41 No error (5]

68. Though he has promoted to (1) / the bank's board as |

a director (2} he continues to carry out (31 all has
current responsibilities. (43 No error (5)
&9, Arranging such a large amount (13 of funds new will

be a problem why (Z) hanks are usually not open (31

g0 early in the morning. (43 Mo errvor (5)
T0. We were forced into react (1) as no organisation can
(2} { afford to adhere (3) these outdated regulations,
(4% Mo error 157 .
Directions (T1-TE): In sach guestion below a senfence

with four words printed in bold type iz given. These are |

numbered as (1), (2, (3) and (4). One of these four words |
prinfed bold may be either wrongly spell or inappropriate |
in the context of the sentence. Find out the words printed- |

in bold are correctly spelt and also appropriate in the con-
fext of the sentence. mark /5) Le. ‘Al correct” as your ansier,



Tl

Though these programmes have proved (1) to

extremely (2) effestive they do have certain (31 |

drawbacks. (4)/ All correct (5

. In order to confront (1) the threat{2) / of global |
warning it iz imperative (3V that we work all |

together. (44 All correct (B) . -

73. Any failure (1V to complicit (2) with the funda-

74,

mental regulation (3vwill result a fine. (4¥ All eor-
rect (5]
We plan to complete the exhaustive (1) perform-
ance (2) review (31 undertook by us. (40 All cor-
rect (5)

75, Home loan borrowers (1) will be definitely (2)

affected (3V sineé banks have raised their Jending
rates of interest, (4 All correct (5)

Directions (76-80): Rearrange the follmwing sen-

tenees (AL, (B (0, (DY, (E) and (F) to makea meaningful
paragraph ond then answer the guestions whick fullow,
A As a result the non etop tensions and anxieties at

work often result in health related problems.

B. The truth is we cannot change the world of work,
C.
. 'We have therefore to, take change and tranaform the

We epend at least half our waking hours at work.

way in which we respond to our work envircnment.
S0 how can we contral these problems” and perform
ot work?

However we can change the way we feel and deal
with various sitnations.

76. Which of the following sentence should be the

7.

78. Which of the hl]ﬂdn;mﬂwlﬂﬂb&th

78 Which of the following sentence should

LAST (SIXTH) sentence after rearrangement?
1L.E 2C 3D i E

5 F

Which of the following sentence should be the
FIFTH sentence after rearrangement T

. B 2.C 3.0 . u;

..EF ) ;

SECOND sentence after rearrangement 7
1.4 2B 3.0 4 D

5 E

FIRST sentence after rearrangement ¥
‘LA 2B ™ 40
5 E

80. Which of the following sentence sk

question mark 1) in the
BL 18%+.7= Sﬁﬂ

5Nm¢nrth;z’
#2, 1590 + 34 x Q Tm7

LA 2B 3.C
6. E

Directions (51-95): Wi

1. 576 4 28

1. 625 4. 645
‘B None of

£3. 4966 + 285 | 1206 + ‘
1854 | LBE 7 3.825 4. 876
Eu_’Hﬂm BE.__

8. =7

2 L

1 i 2, 3 3 3 4 3
5. None of these

"'\—\_\_\_\_\_‘_\_\_\-

B5. 2B20 +12xR=7

1. 1680 2. 1880 3. 1860 4. 1GGE0
5. Mone of these

1950 + 36 + 25 =7

112 2.8 3.8 4.3

5, Mone of these

. 18% of 450 - T5% of 96 = 7

1. 15 2. 22 - 3.12 4, 16
5. None of these

75.95=-46.82 + 14692 =7
1.174.356 “2.175.34 3. 173.45 4, 173.35

5. None of these

4. B—
15
d. 19.45

4. 340

; : 4, T50
B 3 o
of 4 of Eufﬂli}-l :

532 2. 536 3. 526 4. 528

5. None of these

AV,

B4, 184552 x25m? - -

121845 2.21845 3 21385 4. 218.25

#, Mone of these

85, 2.26% of 640 - 1.5% of 480 =7

1 6.4 2. 5.6 g, 4.4 4 7.2
&, Mone of these

Directions (96-100): What will come (n place of the
question mark () in the following number series?
B6. 11 12 26 81 7

1. 324 £, 328 3. 320 4. 280
8. None of these

. 5120 1230 320 80 T _
1. 18 2 24 3,30 4,40
5. None of these
T 1= e T
1. 96 2, 118 3. 490 4. 127
5. None of these

., 6 10 18 34 7
1. 62 2. 64 3. 66 4, 50
5. None of thess

10 & 11 47 ?

185 . 2.98 3.96 4.97

EHq:;Junfthm

0. AB, G.Il-anil!m-ﬁve consecutive even num-

bers. Average of A and E is 46. What nat.he
- largest number? i

1. B2 2 42 & 50 4. 48

&, None of these

102. A train rupning at the speed of 66 kmph cross-

es a gignal pole in 18 seeonds. What is the
length of the train?



| 108, 24 men can complete a piece of work in 15 days.

1L 330 metres 2, 300 metres
3. 360 metres 4. 320 metres
5. Mone of these
103, Find the average of the following set of num-
heern,
155, 128, 137, 140, 160, 132
1. 148 2. 140 3. 146 4, 144

3. None of these

104, Number obtasined by interchanging the digits

of & two digit number is less than the original

number by 18 and the sum of the digits is 6.

What is original two digit number?
1. 46 2,24 3. 42 4, 64
5, None of these :

105, An amount of RHa, 45,000 become Ha. 77,400 on
simple interest in eight vears. What is the rate
of interest p.c.p.a.?

1.9 211 4.8 4. 10:5
& None of these

106, Three-fifth of a number is more than its 405% hy

107.

T,

10

m.

nz

&5, What is 605 of that number?
1. 245 2. 255 3. 260

5. None af these

Rajesh spends 12% of his monthly income on
entertainment, 18% of his monthly income on
children's education, 50% of his monthly
income on other household items and the
remaining amount of Bs. 5,200 he saves. What

4, 20

is his monthly income?

1. Rz, 25,400 2. Rs. 26,200
.3' B=. 24 80 4. s, 25,600
6. Mone of these

L
AV,

1i4. Five eighth of a nomber is egqual to 60% of
another number, What is the ratio between the
first number and the second number respec-
tively?
1.13:12 2.12:13
i, Mone of these

3.25:24 4, 24:25

15 If the fractions ;, %1 g, % and %D.‘!‘EBI“I:"B.I‘I-

#ed in descending order, which one will be the

second?
4 2 3 8
L3 2. 33 4 <
5 5
11 :
Inrections (116-120); [y the following table care- |
Jully to answer these g P I
| No. of employees in nt ﬂpu\;n.antu of five | |
| Orpanizations \:\\ | D E
Department \B\‘H\
HR /|15 |80 Ji20 [ 180 | 160 | |
Finance ~_ ﬁi‘r} 75_|100 | 220 | 140 | |
Mark /o~ 0 [mo (115 | 200 | 190 |
i /S S/ ses{110 (160 | 280 | 290 | |
rilt g | 120 (130 | 10 | 130 !

average number of employees
keting department of all the

4. 146 4. 1438

hat'is the total number of employees working in
2 depariments of organization B together?

In h:;' many days will 18 men complete that [ 350 "9 475 3. 435 4 475
:T; R 2, 20 days 5. None of thesa

sl - 118 What is the ratio between number of employ-
3. 22 days 4.25 days { ans from. B and Marketing de i
5. None of these v 1 together of organization B and these two
Rasika and Nikita invested amounts of Hs. i departments together of organization D
40,000 and Rs. T5000 respectively, At the end i respectively?
five years they got a total dividend of Rs: - | L14:9 2.9:14  3.11:28 4.28:11
46,(H). What is Rasika's share in the di . B, None of these
1. Bs. 16,500 2. F=2.15,0600 118 What is the ratio between the total number of
3, Rs, 15,000 4. Ra. 16,000 employees from all organizations together in

b, None of these
Present ages of Rama and Shyama
ratio of 4 : § respectively. Five
riatio of their ages becomes 5: &
What is Hama's present age

1. 25 vears 2. 92 years 3. 2d€m
5. None of these
What is the compo
amount of Bs. 25,000 in

12 p.opa?
1. Rs. EEM 4R, 6,460
5. None of | j/ﬁ
Cost of 10 culs’ 12 watches is Rs,
30 ealeulators and 36
" Ra. 33,650

7 4. Cannot be determined

cost price of the TV set?
2. Ks. 14,400
4. Rs. 14,500

5. None of thess

HR and Administration departments respec-
tively?

1.132:137 2.137: 132 3, 122:157
&. Mone of these

4, 187 : 122

- 120, Number of employees in IT department of

organization C is what per cent of the total
number of employees in organization C in all

the departments together?
1. 26.5 2 256 3. 254 4. 26.4
& Nene of these

How many such pairs of letters are there in the
word BRIGHTEN each of which has as many
letters between them in the word as in the
English alphabet?
1. Mone 2. Ome
G. Mare than three

122 In a certain eode FIGHT is written as 'S9%@4'
and TEARS is written as '4588+'. How is
STAGE written in that code?

1, #4835 2 Ak 4B%s 3. wBLES
5. None.of thege

3. Twao d. Thres

4, ®48@5



12%. Among A, B, C, I and E each reaching school at
a different time, C reaches before I and A and
only after B. E is not the last to reach school.
Who among them resched school last?

1.Id 2A
3.C 4. Data inadeguats
5. None of these

134. What should come next in the number series?
1836547201836547218365647183654
1.1 2.2 3.4 4 B
5. Mone of these

125, Four of the following five arve alike m.n-urtnm
way and so form a group. Which is the one that
does not belong to that group?

L. Jug 2. Cup 3. Mug 4, Pitcher
5. Container
126, Four of the following five are alike in a certain
way and so form a group. Which is the one that
does nof belong to the group?
1. 94 2 57 3. 60 ‘4. 65
5. 87 . |
127. If '+ means '+, %' means '-', '+' means <’ and "' |
means "+, then=-16 28 +4=-6+3="T i
1. 130 2. 140 3,82 418 !
5. None of these 5
128. How many meaningful English words can be I
made with the letters ERDU using each letter |
only once in each word? i
1. Mone 2. One_ 3 Two 4. Three
5. More than thres i
128, In & column of 20 boys, D is fourteenth from
the front and F is ninth from the bottom. How |
many boys are there between I} and F?
1.2 2.3
3. 4 : 4. Data inadequate
5. Mone of these
130. In a certain code BROADEN is written as |
NQABOFE. How is DESETOP written in that code?
1. EDCLQPU 2. TFELGQFU
3. RDCJQPU 4, EFTLONS
. Mone of these
131. How many such pairs of digits are there he
number 27651489 each of which h
digits between them in the num
the digits are arranged in
within the number?
1. Mane 2. Three
5. More than three
Directions (132-137) Study the fo
-tion carefilly and answer the geestion

I!'an:mgntthe-nen‘t.rve Dmﬂem

third to the right of P | tirthie right of Q whe is
sacond ta the left of B is thind to thiight of T :
132. Who is third 46 thie I¢ft T

LD £ . w_, .

.,

1P -'fll HH . Data inadequate I
5. None of these ]
153 W‘hl-:h the Iullnhi: pairs represents the

h umg]:llm of R?
1. 'BM oL 3 WM 4. BT

5. "nguftt'u.e -
mmlnfhuﬂh the right of W7 |
LT =M 3.Q 4.D !

5. Data inadequate
135 Who is second to the right of M7 |
1.B 2w aP 4. K |
5. Data inadennate H

IS&WhnmtheewnuﬂmthangMan*
1.T 2B 3w
4. Data-inadequate 5. Wone of these

' 157, In which of the following pairs is the first per-
son sitting to the immediate right of the sec-

S

ond person?
1.PD 2 WP 3. BW 4. RQ
5 MQ '

Directions (138-148): Study the following arrange-
mend earefilly and answer the quesions given below:
R@Fi310MDUPLAHETEWNYAQGER
I3d®%Y27
138, Four of the following five are alike in a certain
way based on thejr position in the above
arrangement and g6 foim a group. Which is the
ome that does not tirthat group?
LMDI © 2 Haawm 4.Q5A

BJ%8
13%. How many such hols t{erc in the above
ent, each of w];}c.h is immediately

hyuﬁ\mhe&nd immediately fol-
. . \/ 3. Two 4. Three

org are dropped from the above

vhich of the following will be
From the left end?

3N i@

! DPF4 TWN 7T
1.5B1 2QEI 3.QEB 4 Q5B
. Mone of these
How many such numbers are there in the
above arranﬁmtnt... each of which is immedi-
ately preceded by a consonant and also imme-
diately followed by a consonant?
1. Mone 2. One 3. Twa 4. Thrae
5. More than three
- 1448 Which of the following is the sighth to the
right of seventeenth from the right end of the
| above arrangement? .
LE 20 4, # 4.1
5. Mone of these
Directions (14d-149): Tn each of the questions below
are given three statements followed by three conclusions
numbered I, IT and 1. You have to fake the given stote-
ments to be true even if they seem to be af variance from
commaondy known focts. Read all the conclusions and then
decide which of the given conclusions logically follows from
the given stotements disregording commanly known facts,
144, Statements:
All telephones are wires.
;. A1l wires are tents.
Alltents are cana.
Conclusions: -
IT, ‘Bome tents are telephones.
ITL. Some cans are telephones,

1. Only 1 and II follows 2. Omly IT and ITT follows |

3. Only T and 101 follows 4. All, 1, 1T and ITI follows |

5. Mone of these ' f
145. Statements:

Some cards are pictures.

All pictures are paints.

Some paints are nails.



Conclusions: ;
I, Some paints are cards. i
TI. Some nails are cards. |
I11. Some nails are pictares.
1. Mone follows 2. Omly I follows
3. Omly IT follows 4. Only I11 follows
5. Only I and II follows
146, Statements:
All walls are glazses.
Mo glass is table,
Some tables are windows,
Conclusions:
L. Some windows are walls,
II. Some tables are walls.
111, Some windows are glasses.

1. None follows 2. Omly I follows
3, Omly 11 follows 4. Omly [T follows i
5, Omly I and 11 follows

147. Statements:

All baskets arve poles.
Some poles are lampe.
All lamps are roads.
Conclusions:
I Some Jamps are baskets.
I1. Some roads are poles.
TI1. Some lamps are poles,
1. Only I and II follow 2. Only [ and OT follow
3. Only IT and II follow 4. AlL L, IT and ITT follow
5. None of these _ i

148, Statements: i
Some leaves are baskets,
Some baskets are flowers.
Some flowers are lakes.
Conelusions:
1. Some lakes are baskets,
1. Some flowers are lakes. ‘ - {
I11. No lake is basket. _ - :
1. Only I follows 2. Only IT follows
3. Omly I follows 4. Only either Tor IT foll
5. Mone of these

148, Statementsa:
All pictures are bands.
Some bands are chairs,
Some chairs are tables,

Qs

N

II. Some chairs are pictures.
I1l. Same takles are pictires.
1. None follows

3. Only II follows
&. Only 11T follows

aymbols @, 4 #& & and
~magnings ag dlustrodel
P & Q mesns P 3

T e il

. rl. - - —_— - - — e —
Directions (156-1680): In each of the questions given below which
cm:h?uﬁer the problem figures on the lefe. If the sequence were
S

ong of the

Mew in each of the following questiona assuming the
given statements to be true, find which of the three con-
elusions I, I and II1 given below thim iz'are definitely
true and give your anawer accordingly.

150, Statements:

B%N, N6F, F=H

Conclusions:

L-H§N

nFeB -

In:p%H

1. Only I and IT are trae 2, Only I and III are troe

4. Only IT and IIT are true 4. None is true

6. All [ Il and 111 are true

151, Statements:

WEF, FRE EK#M

Conclusions:
L. M%F
IL M&F

M»>D DK E&T
Conclusions:
L. T%D
ILE®M
TM.M%T
" 1. Only I is true
3. Only II1 15 true
5. Mone of thess
154. Statements:
K@F, F§M, M5T
Conclusions:
I. T%F
ILM®%EK
OLE&T
1. Omly I and IT are true 2 Omly I and 11 are true
&. Only IT and III are true 4. All I, IT and I11 are troe
& None of these
155, Statements: .
N*A A%B, BD
Conclusions:
I. Dea
II. BN
M.N%D
1. None is true 2 Only I is true
3. Omly 11 is true 4. Only I11 is true
6. Only I and ITarg true
ﬁ-l.?'E‘ a':;t;a-'uw figures on the rJ;q}-a-E'
continues?

2, Oaly 11 is true
4. Omlyt T and IIT are troe

Frd L




PROBLEM FIGURES ANSWER FIGURES

156, :
Bu—=gimc lojcwlo/n8-b|8N-b WOTrSarTeUuTr|@ 2o T oD Te
1 2 3 4 5
5. [ €6 = Z 0Oz Oz Z O
= a% * A SIA SIS Es Al
z * CIC &Pk Clk C
£ w] 0 == oo == 0
1 2 3 4 g &

158,
SHOUT |UTOPG [GUTOP|OPTBK [KOPTB BTPFA |EKOPT|FAPBT Tgﬁ& TEPOK
' "'\-\‘ H'\.v
1 2 3< 4 B
O
"ix nDlo als o= alo = [ O= 2&a_a Ho a
8]l =|* 0|0 xais 200 5 Z- zZoslzos|g s=|0UADU=
o _als == aAlD oo a] (o =0 olo- z]e =0 z
: 1 2/ S &~ i 5
H} Y {;
W Oo=kThmOoOos|0s AlEO * O o alus o
s0 |©O = |o®m |[§0 A 8 Ak
5 = 4 A 5 :"'J '8 o)

16l To move to the beginning of a line of text,
the — key.

1. pageup 2 a
3. home 4, enter
5, None of these
182 Computers use the — number system to sto
data and perform calculations.

1. binary 2. octal
3. decimal

5. None of thi:se

3. Hardware
5. None of these

ft
. W#:;\gﬁefﬁ .
O

1. function 2. space bar™3
5. None of thess
165, Cirl. Sift and
1. modifier
3. alphamumet]
5. None ﬂ[tﬂeae\\\
166. The pattern of pri
are callpd ——
1 an

. 2 EI'ER / 3. scanners 4. hareodes
5. None of thede
167. What is the pévmanent memory built into yur
computer ealled?

1L RAM  2'ROM
5, Nome of these

188, Various applications and dur.u.uantsur;a repre-
sented on the Windows desktop hy—

3. CPU 4, CD-ROM

4. hexadecimal
163, Physical componenis thaty make ug y
puter are lenown as N
1. Operating System 2. 8a e 7 \

p—— - - ——
R hols: 2. Labels 3, Graphs 4. Teons
\iﬁ: of these
1 the deleted files go to—
1. Recycle Bin 2. Task Bar
3. Teol Bar 4. My Computer
5. None of thase
170, In MICR, C stands for—
1. Code £, Colour
3. Computer 4. Character
5. None of thess

171. E-mnil addresses separate the user name from
the ISP using the — symbaol,
1 & 28 L%
6. None of these

172 The simultaneous processing of two or more
programs by multiple processor is—
1, multiprogramming 2. multitasking

4. &

3. time-sharing 4, multi processing
3. None of these
173. What type of device is a computer printer?
1. Input 2 Output
8. Software 4. Storage
§. None of these
174. The contents of — are lost when the comput-
er turns off.
1. storage 2. input
3. output 4. memary
5. Mone of these

176. When you turn on the computer, the boot rou-
tine will perform this test —,

1. Ram test 2. disk drive test_
3. memory test 4. power-on-self-tast
5. None of these

176. ‘IiFhen you save to this, your data will remain
intact even when the ecomputer is turned off----
1. RAM

2. Motherboard 3. secondary storage device



4. primary storage device 5. None of these 188. You can start Microsoft Word by using — button,

1
!
177. For creating a dnm-ﬂnt,wnm—-mm l - 1. New 2 Btart
mand & File Menu. 3. Program 4. Control Panel
1 Open 2. Close - 5. Nooe of these. ~ - a0
3. New 4. Save 190 In Excel, Charts are created uii.ng which
5. Nome of these optont
178, "Making a Call' means ....... L. Chart Wizard 2, Pivot Table
1. Calling on a prospective customer 3. Pie Chart 4, Bar Chart
£, Explaining product details 5. None of theke
3. Negotiating a deal 181. Marketing is a function undertaken by—
4. Arguing with a customer 1, All DEA's
5. All of these . 2. All front-office stadl
178, With a CD you ¢an ... 4. Whole organisation
1. Read 2 Write . 4_All of these
3. Read and Write 4. Either Read or Write . None of these ) )
5. None of these 182. Non-product selli ‘HQ:——
180. "Relationship” is marketing means ..... S IR T
1. 'Relation between salesperson . aellizky duly onypeg \\;
2. Relation hetween buyer and seller ' ~NS
3. Relation between company and consumer
4. All of thess - K.
6. Noms of these . . not felpyire estahlished companies
181. Marketing of services is known as —. e R cofipotition
1. Transaction marketing : 1 A
2. Door-to-door marketing A b 88 andemgands theey
3. Relationship marketing ey it O A
4. Internal marketing e Bapk Marketing requires—
5. All of these : 2. mstomized products
182, "Referrals” means —, 4. market research
1. Reference books -
2, Leads provided by operation staff .
3. Bales persons
4. Front-office staff
5. Management

188, "Conversion” in zales language means ——,
1. converting & buyer into & seller X
£, converting a siller into a buyer ; 'IN. Indirest Marketing means —,

3. converting a prospect into a client i ; 1. Marketing by non-sales persons
4. All of these ' 2. Market Survey
5. None of these : i 3. Market Ressarch

184. Bank marketing is same as ——, s i 4, Advertisements
L. Transaction marketing I 5. All of these
2. Service marketing | 197. Marketing is — Find thewrong option —.

L. an ancient coneept 2. a modern need
3. & continwous affair 4. a team effort

: 5. @ direct need for survival =~

. 188, Customer's Relationship with the Bank is

i influenced by —.

| 1. Customer's attitodes

2. Attitudes of Bank stafl

f & Interest rates of the Bank

| 4. Attitudes of sales persons

| 5. All of these

| 198, Marketing is best suited in ——,

1. Buyer's market

2, Beller's market

1. Internal marketing
4. Dvirect marieting
. Mone of these

200. Delivery chaui:mls other than Bank counters
are —.
1, ATM's

X 2, Internet Banking

4. All of thess 3, Mobile Banking

5. Mone of these 4. Tele Banking

' ' 5. All of these

5. Unline marketing

3. Indvor marketing
4. All of these
5. Mone uft.'hme.
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